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47,555,611 36,471,125 11,084,486
= 18,990,483
o 3,235,000
pJ 11,480,518
[ 13,849,610
=6 HMe A3l 47,475,311 36,391,295 11,084,016
= 18,990,483
& 3,235,000
pJ 11,480,518
= 13,769,310
JlgtE Y 7,860,715 5,504,633 2,356,082
o 3,235,000
pJ 1,530,000
[ 3,095,715
AFBIPLUS Y 2,850 10,000 AT,150
203 YREXH| 2,850 3,000 A 150
03 AEFIHRFAH| 2,850 3,000 A 150
OFUHRF 2,850
XA SEAY (SAE0F) 1,698,400 714,000 984,400
o 1,485,000
[ 213,400
403 RHXIEHHIS K20l & 1,698,400 714,000 984,400
o 1,485,000
[ 213,400
01 MXESHMA=2E R 1,698,400 714,000 984,400
OXSEsAY 880,000, 0002 *60% 528,000
o 440,000
[ 88,000
OFTACHHl S4B HE WD
2,090,000, 0002 *56% 1,170,400
= 1,045,000
[ 125,400
AR 360,000 384,600 24,600
pJ 360,000
403 AXIHHSK=201H 360,000 384,600 A 24,600
Il 360,000
01 UHXESHHH=2EE 360,000 384,600 24,600
ontEsd=sd 360,000
pJ 360,000
ZMSISY 230,000 145,000 85,000
307 212t01& 100,000 100,000 0
04 DIZHHALE X 100,000 100,000 0
O=4t0l 8tots A 100,000
308 XXISHHSOIN 30,000 0 30,000
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01 XS MBLEEXS 30,000 0 30,000
OnT ooy HA 30,000
403 KX EMSK=01H 100,000 45,000 55,000
01 AXESMIA2E = 100,000 45,000 55,000
OO0t0I & ZEME =3 SAAE 50,000
OUH FsHol SAAIE 50,000
=B =FAESXH 48,000 70,000 222,000
307 QI2t0I A 48,000 70,000 A22,000
02 BltAAE X 48,000 70,000 A22,000
ONFUAS=TAES AN 48,000
StRMISH XS 880,465 836,000 44,465
308 XX HHSO0IA 714,465 836,000 A 121,535
01 AXNSMBELNEEXS 714,465 836,000 A 121,535
OgtzdEsdHE =4 3,375,000, 000& *8% 270,000
OSO0tAl At OFE ALY 72,000
OSOLXIHAHGI A XI& 72,000
Ostelz+=d= X2 30,000 *25,0005 *20% 150,000
OgteSEH XA 6,000& %50, 0005 *30% 90,000
OXAIFHAHONAS 2 & H At
27,7003 x1,5005 *30% 12,465
OeRL=FT MeAS 48,000
403 XXIEHSA=01d 166,000 0 166,000
01 RXSHMA2E = 166,000 0 166,000
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Ost*=Z=)| X& 200,000 *1,000CH *30% 60,000
OSt2HMZEH & 28X XA 16,000
2EsIIEY 606,000 965,033 A 359,033
308 XX HHSOIH 480,000 845,033 A 365,033
01 MXSHBAEEXZ 480,000 845,033 A365,033
O=fdzelNs NE 80,000
OgEsit 244 X 400,000
403 XXM SA201H 126,000 120,000 6,000
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OLESIHESILWA M| X &
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OYEsIt U2X sk XA 4,000
A0 OIHFEHA A 1,386,000 0 1,386,000
pJ 1,170,000
= 216,000
307 QI2t0IH 450,000 0 450,000
pJ 450,000
02 QIZHAAEX 450,000 0 450,000
O D10l RAN (0122 22]) 450,000
pJ 450,000
308 XX EHAISOIA 936,000 0 936,000
pJ 720,000
= 216,000
01 MHXSHHBMEES 936,000 0 936,000
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9,000 %160, 0005 *65% 936,000
pJ 720,000
= 216,000
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2 1,750,000
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307 2I2t0IH 40,000 40,000 0
02 QIZANEE 40,000 40,000 0
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2 1,750,000
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Il 1,700,102
= 260,715
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33021 %29, 439% 2502 7% 1,918,687
| 1,700,102
< 218,585
OOESTAIL LN 42,130
SNMESEHESRY 195,000 190,000 5,000
307 GI12+0I & 40,000 40,000 0
04 BIZHAAIE X 40,000 40,000 0
OSME SUMCSH U FAYE &t 30,000
OZME AHISTHA 10,000
308 NXIHHSOIH 165,000 150,000 5,000
01 XM EXS 155,000 150,000 5,000
OsE™ME &4 XA (5,0005F) 105,000
OsSEUC Iyl X 50,000
E=RSEE e PPN 420,000 444,000 A24,000
308 AXIEHHSOIA 120,000 120,000 0
01 RXCSHILRES 120,000 120,000 0
HA D2HAS2ZH 10,0003 *60, 0005 *20% 120,000
403 XX EHHS X201 300,000 304,000 24,000
01 XM= E xR 300,000 324,000 A24,000
OMRE=T HSIIAY X 300,000
LA ZAIZ ML JIEHE S 8,607,500 3,313,000 5,294,500
Il 5,730,000
& 2,877,500
308 NXIHHSOIH 7,287,500 2,609,000 4,678,500
Il 5,130,000
& 2,157,500




A Fa
o o AW U3
CHel: BMFHOH (e E)
_ = P e
SN HABIH) - NRAY - BES Off 4k 04 Ofl At ot HluSZ
01 MXEHHMBdELS 7,287,500 2,609,000 4,678,500
O2ZAZ el X 2 A& 160,000
O=Z AMelXl XMAA 367,500
OMEXRZS(E.ZIHSKUI
300,000& 25, 000hax42% 3,150,000
Pl 2,250,000
= 900,000
OFMAESHE ZX= 360,000
OFEcIS AtgelXl H=Hl N3
7,200,000, 000& *45% 3,240,000
P 2,880,000
< 360,000
OXZMESHAIZ #AIEE 10,000
403 XHXIEH S X201 & 1,320,000 704,000 616,000
Il 600,000
= 720,000
01 TUXISEHMAZE = 1,320,000 704,000 616,000
OXA=ZEH FHl X2
3,000,000, 000:& *30% 900,000
P 600,000
< 300,000
OZAE MAZSHEME
500,000, 0002 *47H 2 +20% 400,000
OZAtE dADIH HHI22E 310 S 20,000
Sarsdael 16,300,493 15,144,600 1,155,893
= 12,696,893
Il 496,200
< 3,107,400
SeE otE2tel K& 883,000 1,650,000 AT767,000
Il 496,200
< 386,800
307 elztold 859,000 850,000 9,000
Jl 496,200
= 362,800
02 YIS ExX 859,000 850,000 9,000
O==aAM K& 33,800,000 «15& 507,000
p) 304,200
S 202,800
OHACCPXI &= XI & 8,627,450 *807H 2 x51% 352,000
p) 192,000
= 160,000
403 XHXIEHHSA=01H 24,000 800,000 AT76,000
01 MXIEMA2EX 24,000 800,000 AT776,000
O==ZASEHIXNS 24,000
s delAd 14,341,493 11,489,200 2,852,293
= 12,696,893
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s 1,644,600
308 NHXISHHMSOIE 1,300,000 1,300,000 0
= 1,000,000
S 300,000
01 HXSHHBLEdE2ES 1,300,000 1,300,000 0
O/ & ZLH|IX & 200,000& 10, 000ha*65% 1,300,000
= 1,000,000
= 300,000
403 XHXISHHIS AHE 01 & 13,041,493 10,189,200 2,852,293
= 11,696,893
= 1,344,600
01 MUHXIEHMA=ZE = 13,041,493 10,189,200 2,852,293
OMNEAMEXE 12,932,480,000& *36% 4,655,693
= 4,409,093
3 246,600
OZSHSAILX &
3,694,915,000& «37H 2= %59% 6,540,000
= 6,000,000
= 540,000
OXHIMEEX & 15,471,900& «1787| x45% 1,239,300
= 907,800
= 331,500
OdHIRSHEI X 416,000
= 320,000
3 96,000
OUHlg 224X & 78,000
= 60,000
3 18,000
OFHMeLoisot dstedRAIE X2 112,500
. Mo RSB d X 264,000 535,400 A271,400
403 XXM SA201H 264,000 535,400 A271,400
01 TUXIEHMAZE = 264,000 535,400 A271,400
OUEAHIHEE AL 204,000
OMHI 4T EXKY 60,000
SH=RSEdE A2 170,000 590,000 A420,000
403 XXM SA=01H 170,000 590,000 A420,000
01 MXISMA=2E = 170,000 590,000 A420,000
Od==s SEX X 60,000
O=d2 JHZ2E M43 X 50,000
Osd==Zetkt A& 60,000
INEELE IS E 642,000 400,000 242,000
308 AXISHHSOIA 370,000 400,000 230,000
01 HXSMBEdE2ES 370,000 400,000 /30,000
OFMHESANY X 40,000
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o=z A 180,000
OF LS B WL 150,000
403 X+XIGHAIS XH= 0/ & 272,000 0 272,000
01 XIS =LE 272,000 0 272,000
OYHESSHZA LR 200,000
OZ=H2lB8UMSHAIIA LTI 72,000
p[E EIERIE] 12,130,786 8,937,202 3,193,584
= 6,293,590
| 2,024,216
= 3,812,980
p[ETTE 7,494,696 4,102, 165 3,392,531
2 6,293,590
= 1,201,106
308 XHXIEHHIS O 7,397,196 4,102, 165 3,295,031
2 6,218,590
= 1,178,606
01 MXSHHAZAHEES 7,397,196 4,102, 165 3,295,031
O =AY 4,461,336
2 4,085,590
= 375,746
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7,00021 194, 0005 *5 1% 692,580
23 407,400
= 285, 180
OTHXI M 2 HFOI 24 2 88 Al K| 2
2,0002 2,876, 0005 *3%% 2,243,280
2 1,725,600
= 517,680
403 XHXIGHH SR 201H 97,500 0 97,500
2 75,000
= 22,500
01 RXSHX=EE 97,500 0 97,500
@BIELIEPEIE 30,000,000 *5CH *65% 97,500
2 75,000
= 22,500
IS E ALY 2,863,656 2,709,970 153,686
| 2,024,216
= 839,440
202 OiH| 15,000 14,470 530
01 =UH0i ] 15,000 14,470 530
RN 15,000
307 2120/ & 987,120 999,000 A 11,880
| 592,270
= 394,850
02 UAAMBE 987,120 999,000 A 11,880
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OsZMEgaesol2l 36,560,000& 27X 987,120
| 592,270
L= 394,850

308 MXIHHSOIE 1,861,536 1,696,500 165,036
Il 1,431,946
& 429,590

01 XN MBLEEXS 1,861,536 1,696,500 165,036
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4,319, 3452 x4500 2 *65% 1,263,409
| 971,849
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1,238, 2093 *4500H 2 %65% 362,177
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S 83,580
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| 1,500
= 450
SEREELE 177,000 277,000 £100,000
308 XHXISHH SO & 177,000 177,000 0
01 RASHZLRES 177,000 177,000 0
OSEIIEHEY 0 2S4E S 177,000
0 & X & 112,200 112,200 0
308 XX EHHISOIH 112,200 112,200 0
01 MXSHBABES 112,200 112,200 0
OZ22 x| 112,200
o | 2 1,049,434 1,077,367 £27,933
308 XX EHHISOI & 1,049,434 1,077,367 £27,933
01 RXSHBABES 1,049,434 1,077,367 £27,933
YESI WA XV (3B) 517,500
OA PEH XY 2,0002+60,0005 +25| «30% 72,000
OAIGIZ L3 XI®  702+10,660,3250H15% 111,934
OANSSIH D2H N 348,000
Al EXIR 315,000 510,000 195,000
403 XHXICHH SR =0 315,000 510,000 195,000
01 MXSHIZ2E 315,000 510,000 195,000
OSAYSIVSASAAE XY
10,000, 0002 * 14074 2+ 15% 210,000
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01 MXEHINELS 118,800 148,500 229,700
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YA (S 80,300 79,830 470
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01 AtR2teld] 36,100 36,100 0
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02 23223l 4,000 4,000 0
OB EH 4,000
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